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inte4 _ fastcall sub 1400011A0(__int64 al, _ int64 a2)

unsigned __int64 input_len_; // rbx
signed __int64 input_len; // rax
__int128 *v4; // rax

__int64 Code; // rii

__int128 *v6; // ri4

int v7; // edi

__int128 *v8; // rsi

char v9; // rie

int vie; // edx
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__inte4 vi11; // r8

unsigned _ int64 Code_len; // rcx
signed _ int64 Code_len_ ; // rcx
unsigned __int64 v14; // rax
unsigned __int64 i; // rax

_BYTE *cipher; // rax

size_t v17; // rsi

_BYTE *cipher_; // rbx

_BYTE *v19; // r9

signed int v20; // erili

char *v21; // r8

signed __int64 v22; // rcx

char v23; // al

signed __int64 v24; // r9

signed __ int64 v25; // rdx

__inte4 v26; // rax

size_t Size; // [rsp+26h] [rbp-48h]
__int128 v29; // [rsp+28h] [rbp-46h]
int v30; // [rsp+38h] [rbp-36h]

int v31; // [rsp+3Ch] [rbp-2Ch]

int input[4]; // [rsp+46h] [rbp-28h]
int v33; // [rsp+56h] [rbp-18h]

(_OWORD *)input 0i64;
VEE] 0;
sub_1400018C0(std::cin, a2, input); BEIRIGA
input_len_ 1i64;
input_len 1i64;
do do 1 i S NI K /Z
input_len;
while ( *((_BYTE *)input input_len) );
if ( input_len 19 ) TN BT SE A 27 719
{
sub_140001620(std: :cout, "error\n");
_exit((unsigned __int64)input);
s
\Z3 (__int128 *)sub_140001E5C(5ui64);
Code (_QWORD *)&: :Code; Code=="qwertyuiopasdfghjklzxcvbnm1234567890"
v6 v4;
v7 0;
v8 v4;
do
{
v9 ((_BYTE *)v8 (char *)input (char
v10 9,
(_BYTE *)v8 = v9;
v1l 0i64;
Code_1len 1i64;
do
Code_len;
while ( *(_BYTE *)(Code + Code _len) );
if ( Code_len )
{
do
{
if ( v9 (_BYTE *)(Code vil) )
break;
v10;
vl1l;




while ( v10 < Code_len );
)i
Code_len_ 1i64;
do
Code_len_;
while ( *(_BYTE *)(Code + Code_len_) );
if ( vie Code len_ ) /! BUFFIA I A5 & fECode TEF A, RIBIA M A 252 9/ 5 F 1 5o~ I F
_exit(Code);
v8 (__int128 *)((char *)v8 1);
)i
while ( (char *)v8 (char *)v4 < 4 );
((_BYTE *)v4 4) Q;
do
input_len_;
while ( *((_BYTE *)input + input_len_) );
vld = 0i64;
v29 V6,
while ( *((_BYTE *)
{
if ( ((_BYTE *)
{
vi14;

break;
((_BYTE *)

vid 2i64;

break;
((_BYTE *)

vid 3i64;
break;
b
vid 4i64;
if ( via 0x10 )

break;
s
for (i=v14 + 1; i < 16; i)

((_BYTE *)&v29 + i) = 0;
cipher = sub_140001ABO((__int64)input, input_len_, (unsigned __int8 *)&v29, &Size);// f#sub_140001Ab0O K%} KT
- HOx61C88647, HM HTEANIZ L2,

/7 V29 HEH, i E A FA R FIA T, BI“flag”
v Size;
cipher_ = cipher;
v19 = sub_140001E5C(Size);
v20 iLg
vl9 = cipher [2]; /) FAZTEANZE 9% Xcipher, M/ E, 7Er5FNMI19

v21 v19 iLg
v19[1] cipher_;
v19[2] cipher_[3];
v19[3] cipher_[1];
v19[4] cipher_[6];
v19[5] cipher_[4];
v19[6] cipher_[7];
v19[7] cipher_[5];
v19[8] cipher_[10];

cipher_[8];

cipher [11




v19[11]
v19[12]
v19[13]
v19[14]
v19[15]
v19[16]
v19[17]
v19[18]
v19[19]
v19[20]

cipher_[9];
cipher_[14];
cipher_[12];
cipher_[15];
cipher_[13];
cipher_[18];
cipher_[16];
cipher_[19];
cipher_[17];
cipher_[22];
v19[21] cipher_[20];
v19[22] cipher_[23];
for ( v19[23] cipher_[21]; v20
AL 1
{
v22 0i64;
if ( v20 / 3
{

v1l7; v21

v23
do
{
v23 v19[v22++];
i1, vi9[v20]Mvio[e] FeFvi9[v2e/3-1]

v21;

v21 v23;

)i
while ( v22 < v20 / 3 );
Vv20;
}
(_QWORD
v24 v19
( (_QWORD
v25 0i64;
v30 0x(C8021823;
v31 = OXFA5656E7;
do
{
if ( *((_BYTE
_exit(v7

)&v29 0xCO953A7C6B4OBCCEL6S;
(_BYTE *)&v29;
)&v29 1)

)&v29
v7);

v25) ((_BYTE
v7;
v25;
}
while ( v25 < 24 );
v26 = sub_140001620(std::cout, "You win!");
std: :basic_ostream<char,std: :char_traits<char
return 0i64;

Ox3502F79120209BEFi64;

)&v29

)// V20745 1E 1, vl17==Size==24, v21¥/i7E ~&(v19[1]),

/) RIE FESEEES A

// BIEEv21 75 m

/) SEFR Ly *v214=v19[v22++], [iv21ZF5Av19 K,

/) BVI9XFEIE, ASHEAE ] EHITEA N 2 H %X

/) V29 BRI HELIERNIZAR, 1IN E i 77

v25

v24) )// v19FN29 I 555 il

::operator<<(v26, sub_1400017F0);

V20 filv21 7]

BEYE 20 X F3




v29=[0xce, Oxbe, 0x40, 0x6b, 0xTc, 0x3a, 0295, 0xcd
Oxef, 0x9b, 0x20, 0x20, 0x91, 0xf7, 0x02, 0x35
0x23, 0x18, 0x02, 0xc8, OxeT, 0x36, 0x36, Oxfal
v19=vZ29
for v20 in range(lenivl9-1,-1,-1):
tmp=v20//3
1f tmp-0:
for 1 in rangeitmp):
v19[v20] "=v19[1]
cipher=[0]#*len(v19)
cipher_index=[2,0,3,1,6,4,7,5,10,8,11,9,14,12,15,13,18,16, 19,17, 22, 20, 23, 21]
for 1 in range(len(cipher)) :
cipher[cipher index[i]]=v19[i]
for 1 in range(len(cipher)):

print (hex (cipher[i]))

testl

D:\python2T-x64\python?. exe D:/Python/pycharm/pycfile/testl. py
Oxhc Oxad Oxce 0x40 0xf4 0xb2 0xb2 OxeT 0xa9 0x12 0x9d 0xl2 Oxae 0x10 Oxc8 0x5bh 0x3d 0xd7 0x6 Oxld Oxdc 0xT0 0xi8 Ozde

EH N Rlag” i EINK 316, 5 fitxxtealifi Al 7] 15 %flag

DELTA OX9E3779B9S

def _long2str(v, w):
n (len(v) 1)
if w:
m=v[-1]
if (m n ED) (m n): return "'
n=m
s struct.pack('<%ilL" len(v), *v)

return s[@:n] if w else s

def str2long(s, w):
len(s)
(4 - (n & 3) & 3)

n

m

s s.ljust(m, "\0")

\% list(struct.unpack('<%iL" (m 2), s))
if w: v.append(n)

return v

encrypt(str, key):

if str '': return str
_str2long(str, True)
_str2long(key.ljust(16, "\@"), False)
len(v) 1
v[n]
v[o]

6 + 52 (n + 1)

while q > @:
sum = (sum + _DELTA) & Oxffffffff
€



https://blog.csdn.net/weixin_41474364/article/details/84314674

y = vip + 1]
vipl = (vIp] 4) ~ (sum ~y) + (k[p el " 2))) & OxFFFFFFS

z = v[p]
y = v[e]
vin] = (vin] + ((z (sum *y) + (k[n e] * 2))) & OxFFFFFFff
z = v[n]
q 1
return _long2str(v, False)

decrypt(str, key):
if str "' return str
v = _str2long(str, False)
k = _str2long(key.ljust(16, "\@"), False)
n = len(v) 1
z = v[n]
y = v[e]
g=6 + 52 (n + 1)
sum = (q * _DELTA) & Oxffffffff
while (sum 9):
€ sum p 3
for p in range(n, 0, -1):
z = v[p - 1]
vipl = (vlp] - ((z 4) ~ (sum *y) + (k[p e] * z))) & OxFFFFffe

y = v[p]
z = v[n]
v[e] = (v[e] - ((z 2) (sum ~ y) + (k[® e] * 2))) & OXFFFFFEFF
y = v[e]
sum = (sum - _DELTA) & oxffffffff
return _long2str(v, True)

def xor(x ,y):
return ord(x) ord(y)

key="flag"+"'\x00"'*12

cipher_data=["\xbc', "\xa5", "\xce"', "\x40"', "\xf4"', "\xb2"', "\xb2"', "\xe7"', "\xa9", "\x12"', "\xod', '\x12', "\xae', "\x10', "'
\xc8"', "\x5b"', "\x3d"', '\xd7"',"'\x06"','\x1d", '\xdc', "\x70"', '\xf8", '\xdc"']

cipher="'"'.join(cipher_data)

print(decrypt(cipher,key))

#flag{CXX_and_++tea}
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{

| _int64 _ fastcall main{__inte4 al, char **a2, char **a3)

int64 v4; f/ [rsp+0h] [rbp-A8h]

char input; // [rsp+20h] [rbp-88h]
unsigned _ int6d v6; // [rsp+88h] [rbp-20h]

vh = _ readfsqword(@x28u);
__printf_chk(1LL, "Please give me the key string:", a3);
scanf("%s", &input);

if ( check(&input) )

// S input B)FFF

{
sub_C50((__int64)&input, &input, &v4); /7 S ASEIERETh, FEFFBAsub_cse
__printf_chk(1LL, "Judgement pass! flag is actf{%s_%s}i\n", &input);

¥

else

{

puts(“"False key!");

¥
return @LL;

HE R Echecki %, AN, BiFinputf) =57, R RAIETT R4 2 5 oL

)

15 * v2 - 30 * v8 == -54400
<< 6) - 120 * vO == -10283
v9 - 16 * v1l == 22855

v2 + 10 * vid == -2944

vE + 100 * v9 == -2222

v8 - 83 * vO == -13258

* w2 + 80 * vl == -1559

* 7 - v8 == 6308 )

vl = input[1];
v2 = *input;
v3 = input[2];
vd = input[3];
v5 = input[4];
ve = input[6];
v7 = input[5];
v8 = input[7];
v9 = input[8];
result = @;
if (-85 F v9 + 58 ¥ w8 + 97 F o + w7 + =45 F v5 + 84 F y4 + 95 F y2 - 20 F vl + 12 * v3 == 12613 )
{
v1l = input[9];
if (30 % vil + -70 * vO + -122 * v6 + -81 * v/ + -66 * v5 + -115 * w4 + -41 * w3 + -86 * vl -
&8 -103 * v1l + 1280 * vB + 108 * w7 + 48 * vl + -89 * 3 + VB ¥yl - 41 * w2 + 31 * v5 - (vb
& 71 F vo + (v7/ << 7) + 99 F v5 + -111 * v3 + 85 F vl + 79 *F v2 - 30 F v4 - 119 * v + 48 *
&& 5 * vil + 23 * vO + 122 * v + -19 * y6 + 99 * y7 + -117 * v5 + -69 * v3 + 22 * yl - 98 *
&& -54 * w11l + -23 * v8 + -82 * v3 + -85 F v2 + 124 * vl - 11 ¥ v4 - 8 * v5 - 6B * v/ + 95 ¥
& -83 * v11l + -111 * v/ + -57 ¥ v2 + 41 *F vl + 73 ¥ y3 - 18 * v4 + 26 * v5 + 16 *F v + 77 *
&& 81 * v1l + -48 * vO + 66 * v3 + -184 * v6 + -121 * v7 + 95 ¥ 5 + 85 * v4 + 60 * v3 + -85
&8 101 * v11l + -85 * v9 + 7 * v6 + 117 * v7 + -83 * v5 + -101 * v4 + 90 * v3 + -28 * v1 + 18
{
result = 99 * v11 + -28 * y0 + 5 % yg + 093 * y6 + -18 * 7 + -127 * V5 + 6 *F v4d + -0 * y3 + -93 * vl + 58 * y2 == -1697;
b
}
return result;

F] FH python ) z3 /& 5 il A 45 Fllinput



from z3 import
flag=[Int('flag[%d]' %i ) for i in range(10)]
s=Solver()
s.add(-85 * flag[8] 58 * flag[7] 97 flag[6] flag[5] 45 flag[4] 84 * flag[3] 95 flag[o] 20
flag[1] 12 * flag[2] 12613)
s.add(30 * flag[9] 70 * flag[8] 122 * flag[6] 81 flag[5] 66 * flag[4] 115 flag[3] 41
g[2] 86 * flag[1] 15 * flag[@] 30 * flag[7] 54400)
s.add(-103 * flag[9] 120 * flag[7] 108 * flag[5] 48 * flag[3] 89 * flag[2] 78 * flag[1] 41
31 * flag[4] (flag[6]*64) 120 * flag[8] 10283)
.add(71 * flag[6] (flag[5] *128) 99 flag[4] 111 flag[2] ) flag[1] 79 * flag[@o]
119 * flag[7] 48 * flag[8] 16 * flag[9] 22855)
.add(5 * flag[9] 23 * flag[8] 122 * flag[7] 19 * flag[6] 99 * flag[5] 117 * flag[4]
22 * flag[1] 98 * flag[o] 10 * flag[3] 2944)
.add(-54 * flag[9] 23 * flag[7] 82 * flag[2] 85 flag[o] 124 * flag[1] 11 * flag[3]
60 * flag[5] 95 * flag[6] 100 * flag[8] 2222)
.add(-83 * flag[9] 111 flag[5] 57 flag[o] 41 flag[1] VE flag[2] 18 * flag[3]
16 * flag[6] 77 * flag[7] 63 flag[8] 13258)
.add(81 flag[9] 48 flag[8] 66 flag[7] 104 flag[6] 121 flag[5] 95 flag[4] 85
60 * flag[2] 85 * flag[o] 80 * flag[1] 1559)
.add(1e1 flag[9] 85 flag[8] 7 flag[6] 117 flag[5] 83 flag[4] 101 flag[3] 90
28 * flag[1] 18 * flag[@] flag[7] 6308 )
.add (99 flag[9] 28 flag[8] 5 flag[7] k] flag[6] 18 flag[5] 127 flag[4] 6 flag[3]
9 * flag[2] 93 * flag[1] 58 flag[o] 1697)
if s.check()==sat:
print(s.model())

BATER

D:\prython2T-z64\pythonZ. exe D:/Prthon/pycharm/prefile/testl. py

[flag[g] = 119
flagl[3] = 82,
flag[1] = 48,
flaglo] = 70,
flag[4] = 84
flag[2] = 117
flag[9] = 64
flag[5] = 121,
flaglal = 95,
flag[7] = 551

e A eh, sfrelfseft, A, 13%lflag

zihaoli@zihaoliworld: ~/CTF

MF(F) RIE(E) &EE((V) EE(S) LR FHEIH)
zihaoli@zihaoliworld:~/CTF$ ./UniverseFinalAnswer

Please give me the key string:FOuRTy 7w@
Judgement pass! flag is actf{FOuRTy 7w@ 42}
zihaoli@zihaoliworld:~/CTF$ [}

[WUSTCTF2020]level4
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1[int _ cdecl main(int argc, const char **argv, const char **envp)
2i{

3| puts("Practice my Data Structure code..... "y;

4 puts("Typing....Struct..... char....*left....*right............ emmmmm. . .OK!");
50 init();

6| puts("Traversall™);

7| printf("Traversal type 1:", argv);

2| typel((char *)&unk 601290): // mFER

9l printf("\nTraversal type 2:");

18| type2((char *)&unk 601290): /! BFER

11| printf{"\nTraversal type 3:");

12| puts(" //type3(&x[22]); No way!™); // SEFEA

13| puts(&byte 400A37);
14| return @;

w7 2f0t02T{hcsil SWA__ r7Ee}

JEFiE . 20f0Th{2tsIS_icArE}e7__ w

EH Y 3 R 3 ) A R E O, S T SO, B N flag
RSS2 TG P 7 ) 7 4 R0 HR 7 38 17 7 50 S SURE


https://www.noah-dream.com/archives/51/

#include <stdio.h>
#tinclude <stdlib.h>
#tinclude <string.h>
typedef char ElementType;
typedef struct BiTNode {

ElementType data;

struct BiTNode* 1lchild;

struct BiTNode* rchild;
}BiTNode, *BiTree;

BiTree CreatBinTree(char* post, char* in, int n);
void preorder(BiTree T);

int main()
{
BiTree T;
char postlist[100] "20f0Th{2tsIS_icArE}e7__w";
char inlist[100] "2f0t02T{hcsiI SwA r7Ee}";
int length;
length = strlen(postlist);
T CreatBinTree(postlist, inlist, length);
preorder(T);
return 0;
)i
void preorder(BiTree T)
{
if (T)
{
printf("%c", T->data);
preorder(T->1child);
preorder(T->rchild);

b
b
BiTree CreatBinTree(char* post, char* in, int n)
{

BiTree T;

int i;

if (n 9) return NULL;

T (BiTree)malloc(sizeof(BiTNode));
T->data post[n 1];

for (i = ©; in[i] post[n - 1]; i++);
T->1child CreatBinTree(post, in, i);
T->rchild CreatBinTree(post i, in
return T;

B4 A Mflag
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exefif ¥, e, idaintr
L X B HEFFEAlagdy, KM MHLEE0x00401640HF 45, RESEhBA Hiidailal, MiZ2&hn 7 e84
{EHB1EOX00401918 F1# 1EOX0040191D4b, P& —HEINFE A, HAE T —i2, nopfif —Zkpushig 4

:PR40190F push
084081910 call

084019138 offset byte 428C54

:@040191D

90401910 loc_48191D: ; CODE XREF: .text:
:0848191D offset byte 428C54

- ARAATAD D ctrlan

- @0401927 esp, 4

100401924 eax

00401928 offset byte 428054

11 #1:0x004016404k 15 #->create function, B i% H A 2L b iEAXAS, Fepfl ks, F5RIC4
FEE R

V20 (1) 255 HE FIVAG I 7 B 5 EA ek, 485 Sl pbDatal¥imd5HL41 i LE 45

ELEARZER, md5 LS AT pbDatafllunk_4230307E 5 58k, 45 R Myflag

LRESULT __ stdcall sub_401640(HWND hWndParent, UINT Msg, WPARAM wParam, LPARAM 1lParam)
{
int v5; // eax
size_t v6; // eax
DWORD v7; // eax
int v8; // eax
int v9; // eax
const char *v1@; // [esp-4h] [ebp-456h]
CHAR *v11; // [esp+6h] [ebp-44Ch]
int v12; // [esp+4h] [ebp-448h]
int v13; // [esp+4Ch] [ebp-466h]
UINT vi14; // [esp+56h] [ebp-3FCh]
CHAR v15; // [esp+54h] [ebp-3F8h]
CHAR vi16[2]; // [esp+154h] [ebp-2F8h]
int v17; // [esp+157h] [ebp-2F5h]
__int16 vi18; // [esp+15Bh] [ebp-2F1h]
char v19; // [esp+15Dh] [ebp-2EFh]
char v20; // [esp+166h] [ebp-2ECh]
char v21; // [esp+181h] [ebp-2CBh]
__int16 v22; // [esp+25Dh] [ebp-1EFh]
char v23; // [esp+25Fh] [ebp-1EDh]
CHAR v24; // [esp+266h] [ebp-1ECh]
CHAR String[4]; // [esp+366h] [ebp-ECh]
int v26; // [esp+364h] [ebp-E8h]
__inti16 v27; // [esp+368h] [ebp-E4h]
CHAR Text; // [esp+36Ch] [ebp-E6h]
struct tagRECT Rect; // [esp+38Ch] [ebp-Coh]
CHAR Buffer; // [esp+39Ch] [ebp-Boh]
HDC hdc; // [esp+4006h] [ebp-4Ch]
struct tagPAINTSTRUCT Paint; // [esp+404h] [ebp-48h]
WPARAM v33; // [esp+444h] [ebp-8h]
int v34; // [esp+448h] [ebp-4h]

LoadStringA(hInstance, Ox6Au, &Buffer, 100);
vl4 = Msg;
if ( Msg > ox111 )
{
if ( vi4 517 )




if ( strlen((const char *)&pbData) 6 )
ExitProcess(9);
if ( strlen((const char *)&pbData) )
{
memset (&v24, 0, 0x100u);
v6 = strlen((const char *)&pbData);
memcpy (&v24, &pbData, v6); // pbData#% V1 Fllv24
v10 (const char *)&pbData;
do
{
v7 = strlen(v1e);
sub_40101E (&pbData, v7, vil); // CryptCreateHashif#(, # 1~Z#(~0x8003u, X/pbDatai/t{rmd5#(%|
}
while ( &v12 vi2 );
strcpy(&v20, "ekk dia 55k222k2a776jbfgd @6ciib");// v20="0kk dla 55r222k2a776jbfgd 06cjjb"
memset (&v21, @, OxDCu);
v22 @5
v23 @5
strcpy(vle, "SS"); vi6="SS"
v17 0;
v18 0;
v19 0;
v8 = strlen(&v20);
sub_401005(v16, (int)&v20, v8); // v20°=vi6
if ( _strcmpi((const char *)&pbData, &v20) )// v207Fmd5i 75 HpbData b, KiHiv20, fFmd5Fc%y, [l 7225 giHT

SetWindowTextA(hWndParent, "flag{}");
MessageBoxA(hWndParent, "Are you kidding me?", "~ 2"  0);
ExitProcess(0);
¥
memcpy (&v15, &unk_423030, 0x32u); // unk_423030 41, #JF15
v9 strlen(&v15);
sub_401005(&v24, (int)&vl5, v9); // v24fimd5 # S ET HpbData #tifal, v24°=v15
MessageBoxA(hWndParent, &v15, 0, ©x32u);

dword_428D54;
)i
else
{
if ( vid 520 )
return DefWindowProcA(hWndParent, Msg, wParam, 1lParam);
if ( dword_428D54 16 )
{
strcpy(String, "ctf");
V26 Q;
v27 Q;
SetWindowTextA(hWndParent, String);
strcpy(&Text, "Are you kidding me?");
MessageBoxA(hWndParent, &Text, &Buffer, 0);

dword_428D54;

else

{
switch ( vi4 )

{




v34 (unsigned __intl6)wParam;
v33 wParam 16;

v13 (unsigned __intl6)wParam;
if ( (unsigned __intl6)wParam 104 )
{
DialogBoxParamA(hInstance, (LPCSTR)@x67, hWndParent, (DLGPROC)DialogFunc, 0);

}

else
{
if ( vi3 105 )
return DefWindowProcA(hWndParent, Msg, wParam, lParam);
DestroyWindow(hWndParent);
b
break;
case 2u:
PostQuitMessage(0);
break;
case OxFu:
hdc BeginPaint (hWndParent, &Paint);
GetClientRect(hWndParent, &Rect);
v5 = strlen(&Buffer);
DrawTextA(hdc, &Buffer, v5, &Rect, 1u);
EndPaint (hWndParent, &Paint);
break;
default:

return DefWindowProcA(hWndParent, Msg, wParam, lParam);




565 A4S B pbDatafmdSHL #I B, I8 1 75 2 W il SR 3

v20="0kk dia 55k222k2a776jbfed 06cjjb”
vig="58"
phData=""
for i in range(len(v20)):

phDatat=chr (ord(v20[1]) "ordivia[i%leniv16) 1))
print(pbData)

test1

D:\python27-x64 \python2. exe D:/Python/pycharm/pycfile/
cB83Th23ff8aaaBaldde15473ca0991

c8837b23ff8aaa8a2dde9154 73020891

EiREER:
123321

F5md5HF R ffipbData (v24) Flunk_unk_423030 (v15) fEHREIEA, 153fag

v24="123321"
v15=[0x57, 0x5E, 0x52, 0x54, 0xz49, 0x5F, 0z01, 0x6D, 0x69, 0x46
0x02, 0x6E, 0x3F, 0x02, 0x6C, 0x37, 0x3B, 0x54, 0x4C]
flag=""
for 1 in ranse(leni(v13)):
flag+=chr (ord(v24[itilen(v24) ) "vi5[i])

print(flag

estd
D:\prython2T-z64\pythonl. exe D:/FPrthon/pycharm/prefile/test2. py
flagi{nd Zud nd die}
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